

If the fluid-saturated areas remain the same, we return to (3). Then we go to expression (5) and calculate  on condition  .

                                  (5)
oleObject3.bin

image1.wmf
00

(),;

lClj

MbyMS

П

f

ÏÏ


oleObject1.bin

image2.wmf
0000(1)

1

()(),;

j

llClij

MMbyMS

П

ff

-

=Ï


oleObject2.bin

image3.wmf
22

11

000

,1

0

)

00

,

0

()

()(,)()

()2

(

(),;

()2

jiljilj

lSpjMl

Scl

jajil

l

SpjlClj

Cl

kk

MGMMdM

M

GdcMbyMS

П

Mn

s

ftf

sp

ss

f

f

sp

-

-

+-

-

¶

-=ÏÏ

¶

òò

ò

Ñ


